CBRELCEUILEIBLAIE) « DOERAT

13a) 467 + 475 hy  45% of 345 o) 43+ 7.8 x5
bY 65 -T7.56 i1l 25% of 600 pl 2.4 x 9 - 4,22
) 4.67 + 4.8 i3 T9% of 30 gq) 3.76 + (7.3 x 4.2)
dl 3.9 ¥ 5.7 ki 50% of 450 r156 - (12,3 - 4.7)
el 23.5 x 45 [ 40% of 100 ) (34 = 3010 - 22.4
fi 56,3 - 34.5 m} 90% of 60 b} TE.T - 45 x 3.4
) 45,3 + 23.6 _ ny To¥ of BEI u {45—63} x B
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# Round off to 2 decimal places where Hecessary

a) 4.86 % 5.95 h) &% of 6.7 o) 856 % 53 - 4576

b} 436+ 65 i) 25% of 3.67 pl 4575 -67.3 8 11

C) 56 % 873 i3 FOE of 300 q) (45 - 67 .4y w533

d) Fd+ 423 k) 5% of 6.56 ry 34 - 33 x (536 - 458.5)
e) 6.3 - 124535 1) 40% of 34 s) 46 -578 % 5.2

Tl 423+ 54 m) 62% of G0 i) (945 + 44) - 34
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n) & of 600
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& Round off to 3 decimal places where necessary

a) -/ 78.34 g) 5.67¢ m) 7.92 +.,/580
b} /452 hy 342 hl 945 - 370E
£l 34 il 467 0l (478 + 5.84) % 267
d) /6 i 2592 pl 4688 + /456
el - Jf144 r]q:: 0.45 £ q) (352 -78)-34
f1 3589 n 0, 582 ) 5.5 3 5 + 8.9
g 7L ox 1% m}53_+1§+4$;
1.1 5142 i
hy & ?3 n]'(4 EIIKEE
6, 54 42 _ g5
i) Eu? 55‘ o) {25} 5,_:J
1 _cd 1,323 _al
1 I _ 4z
&l 21.,.& k) BEHEIE q) QEH?E 13?
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